Warm Up
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Solve for x and graph your solutions on a

number line.

3(4x —2)+5>4 —7(3 — 2%)
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Write the correct answer each question below.

Each angle in Figure 1 is numbered.
What makes a linear pair with:

A) /1 22 or Z4

B) /4 VAl or 23

In Figure 2 what angles make a linear pair with:

A) /BAC ZBAF or ZCAE

B) ZDAE ZDAB or  ZEAG

C) ZGAF ZFAD or  ZGAB

D) ZBAD Z/BAG or  /ZDAE
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[ Special Angle Pairs with Parallel Lines

Line 1 is parallel to line 2. List all the angle pairs that fall into each category.

Corresponding Interior
Zaand Ze
Zband Zf Zdand Zf
Zdand Zh Zcand Ze
Zcand Zg

Alternate Exterior | C Interior
Zaand Zg Zdand Ze
Zband Zh Zcand Zf

Line a is parallel to line b. Tell if each statement is true (T) or false (F).
Z1and £10 are alternate exterior angles. _ F

/8 and /11 are alternate interior angles. __ T

/2 and £10 are corresponding angles. T

Z2and £7 are alternate interior angles. __F

Z7and Z15 are corresponding angles. __ T
/5and £10 are alternate interior angles. _ T
/7 and Z11 are consecutive interior angles. __ T

/10 and £14 are consecutive interior angles. __F

/1 and /3 are corresponding angles. F

Z4 and /15 are alternate exterior angles. __ T



[ Parallel Lines: Finding the Unknown ]

Each diagram is formed by two parallel lines and a |. Write the

can use to find the value of the variable. Then find the value of the variable.

Equation 3w-1=77

w= 26

Equation __2a+7 +109 = 180

(2a+7);
a=_32
1097
Equation 4x=99
4x7
X = 24.75 lo9°

Equation __28 + 10m —30 =180
3

m=_18.2

Equation __ 125 + 0.5t = 180

t= 110 0.5t°
125°

/
/ /Om -30)°

you

[ Writing Equations for Vertical Angles |

Find the values of x and y.

1 x= 37 2. x= 49

126

2% X74°
x+77)°
3. x= 21 4. x= 17.5
759 . g5°
(6x—21)" K105 55°

8x°

5. x= 67 6. x= 5
y=__ 32 y=_22




[ Using Angle Relationships

Find the values of the variables.

a=_ 123 b= 16 c= 40
d= 55 e= 46 f = 107
g= 16 h= 3 j= 18 k= 36
57°\ a’ 35
d°
e o
120° 88

2 (b +44) (F- 15)°
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Whatisa
function?

A function in algebra is an equation where
any x-value can be put into the equation
to produce exactly one y value.
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We have been dealing with
functions all year!



What functions have we worked with?
Linear

Exponential

Let's check when x =2

y=3-5 (2,1

y = 5(2) (2, 20)



How can we tell if a
relationship is a function?
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Review the columns. The relation will not be a
function if any __ X-Valu¢
corresponds to more than one different
V-value
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Use the  Vextheal line test

The relation will not be a function if a vertical I|ne
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(a vertical line crosses 2 valueﬁ)
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Review each ordered pair. The relation will not
be a function if any __X~Valuc

= corresponds to more than one different

- alud

Instead of ordered pairs being listed in a table
they are listed with commas between them.

{(3.3). (4.-1), (2, 3)} Fumehm
N

DI +o hiiw
54N 9Vu\ /1%

{(1.8). (0.-2). (1.C3)}

Not a fwnchone
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Review the arrows. The relation will not be a
function if any X- V alwg maps
to more than one different




Is it a Function?

only tf ...
Every x-value is assighed to ONLY ONE y-value.
X y X y X y X [y
u -3 8 -2 8 1 5 2 5D
(<)) -1 4 -1( 5 2 | 7 5 | 7
z 0] 6 0| 4 Ad3[8D|-4]38
e 5 | 16 1({ 5 A3 9D 2|59
F 9 24 2 8 5 11 10 | 11
A y-value CAN be the result of x-values CANNOT be assigned to
2 different x-values. multiple y-values.
Y, : ;
2 T :
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B . :
u Move a VERTICAL LINE across a graph to check that it only crosses the graph once.
REMEMBER: Every point on a vertical line has the same x-value
("}
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functions, you will see :(EQ ) iCP,'QSE,O\f)'-

Kot 50 SAY i Eub 10wk “£ of x *

S (R

function name input

2
This is the same as writing y = X

)= x"

Function Rule - tells Note: functions can be named any variable
you to multiply an
unknown number 3 times fis the name of Function rule is to multiply
the function the input values by 3
Dependent Variable (y) — P ’

Sy = 3x R = 3%

\ .

Independent Variable (x) This tells that x is the input



Functions can have different “names.” You will notice below that we have functions f, g, h, and j.

When we want to know given function a, what is the value when x = 2, we write a(2), substitute 2 in for x
and then solve.

Example:
Our function is: a(x) =5x—4

a(2)=5(2)-4
=10-4
=6
If you were to plot this point on a graph it would be (2, 6). It is the same as asking what is the
value of y when x = 2.

Evaluate the following expressions given the functions below:

g(x)=-3x + 1 f(x)=x*+7 h(x) = % j(x) =2x+9
a. g(10)=
b. f(3)=
¢. h(-2)=
d. j(n=

e. h(a)



When She Wouldn't Lay Any Eggs?

Determine whether each relation ls a functlon. Indicate whether It “ls a

functlon” or Is "not a function” by clrcling the appropriate letter in the
- chart. The anewer to the Bitle question ls found by reading the clrcled

letters in the top row, then the circled letters in the bottom row.

@ (1.8 0.15) 0.-4) 2.0} @ {-5.2) (5.2). (0.-3). (5
@ (2.7 (62) (-2.-8) (0.9)] @ {(-7.2). (4.~6) (2.-2). (~3.9). (0.-11) <4.o}
5 ] © @ L 8]
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ISAFUNCTION> AIR|G|E|O|L|O|F|D|E|G|O|G|G

NOTAFUNCTION>| | |S|T|IA|TIME|P|O|L|A|L|L|E
{ntroduction to Graphs and Functions: PUNCHLINE » Algebra « Book A
Determining Whether a Relation Is a Function ) ©2006 Marcy Mathworks
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Name

FINDING UNKNOWN ANGLE MEASURES #2

Directions: For each set of parallel lines, you are given the measure of one angle. Use your knowledge of parallel
lines and transversals to find the measures of each other angle.
% 150
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Example: Given an angle of 150° 150~_30
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Name

FINDING UNKNOWN ANGLE MEASURES —CONGRUENT ANGLES-#3

Directions: Find the measure of each missing angle in the parallel lines and transversals below. Each pair of angles
are cither vertical angles, alternate angles, or corresponding angles; so they are congruent. All you have to do is set

up and solve an equation where the expressions are congruent. Once you’ve solved for x, plug that value back into
each expression to find the measure of each angle.

G
G
Equation: Equation:
x= ZABG = ZLCBD = x= ZLEFB = /ZGFH =

e

Equation:

= ZLABD = LHFA= x= ZCBD =

ZHFC =

/C’ Ca
A B : D
> B P < >
) dx+84 . 6)
P 16x R _E F | 2x+30 H
E E H - 3x
G Gvy
Equation: Equation:
x= £ZGBD = ZEFC = x= ZEFG = ZHFC =

%www.imathworksheets.com%



Find the value of x that makes j Il k.

po

13 > 3+ 10)7 -
| < /(5% ~:10)° S k

15, jﬁx‘T (sx+,15)°1\\

Determine the missing angles,
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Exterior Angle Theorem

In any triangle, the measure_of one exterior angle is equal to the sum of its remote
interior angles.

An exterior angle and its adjacent interior angle are supplementary.

2
L1+ £2= z4
L3+ L4 =180°
1 3/4 L1+ £2+ £3=180°

1 . 2. 3
y
X 60°
]
450 379N\ y,/45° X\ z 500 110°
X
X:_________ y:________ X___”__ y:________ X::________ y:_______
7=
4 5. 5
X
Z
X w
zZ
) . 453
x_~30 aoy\ N .
O y\120° ’ 95°|
X= y = W= X W= X
Y=____ Z= ____ Y=____ Z= ____
7. XY ~Z7705°
40° x=____ y= ____



Homework

Finish Angles Packet



